T&T4 4.5 Chord Lines November 27, 2014

11. Find the equation of the common chord of the circl@ +y2=3x+5y—4=0and
S+ —x+dy-T7=0.
Hence find the coordinates of the points of intersection of the two circles.
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14. Stars revolve around the Pole Star once each night. A particular
star traces out the circle, x> + y2+ 2x — 8y + 4 = (.in a

chosen set of coordinate axg
The horizon has equatio
(i) State the coordinatesol the Pole Star. %‘

(i) Calculate the coordinates of the paints of rising and
setting of the moving star.
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